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Expressions and Equations
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[What You'll Learﬂ oy
Scan the lesson. List two headings you would use o make an
outline of the lesson. .

Vocabulary )

point-slope form
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Zoo The cost for 1, 2, 3, and 4 people to go the zoo is shown ; I | el

.': — Ty =

in the table.

EHumberufFeuple,x 1 | 2 3 4
o Arotal'cost,yy % | $13 | $22 | $31 | $40 P
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2. What'is'the slope of the related graph? |

3. CHo‘db‘eZan‘ ordere.;"i pair. ( I\ ) Then substitute
the yalues in the:equation below.
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4, Solve for b to find the y-intercept. 35“Y l_‘l%%
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5. Write an equation of the line in E 24 S
slope-intercept form. = ?g
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6. Graph the data from the table 4 (Kexkon 5 s J\é (
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Work Zone

Words The linear equationy — y; = m (x — x4)  Graph
Is written In point-slope form, where

(x4, ¥4) Is a given point on a nonvertical
line and m is the slope of the line. /
= (x, )
Symbols 'y — Y, =mx — xi}_ ) y
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Slope You can write an equation of a line in slope-intercept form when you

The point-slope form of a
linear equation is tied

directly to the definition
of slope.
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know the slope and the y-intercept. You can write an equation of a
line in point-slope form when you are given the slope and the
coordinates of a point on the line that is not the y-intercept.

(Examples

1. Write an equation in point-slope form for the line that passes
through (—-2 3) with a slope of 4. y y - YY) x..-

Y, m 8
Y—=Y1 = m{x — xij Point-slope form 3 L!- (X ) .- .-.i' &
y — 3 = 4[x — (—2)] (X, ¥) =(=2,3),m=4 Y" '"Z ot by

2. Write the slope-intercept form of the equation from Example ’b
+

y—3=4(x + 2) Write the equation “'"' N X
y—3=4x+ 8 Distributive Property \l - 3 4()("'2)
+3= 43 Addition Property of Equality

y=4x 4+ 11 Simplify. y b L\ﬁ( +
3__.

= x4
Check: Substitute the coordinates of the given ;laezi-»n-(he'eqmn—

b

y =4x + 11
3= 4(-2) + 11
3=3 v
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( Got I-j-? Do this probiem to find out.

S0
a. Write an equation in point—@ae form and slope-ifttefcept form
for the Ime that passes through (— 1 2} and has a slnpe of —=

@ y-—Z-"‘g (yu-ﬁ" \]...-mx




